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Before you start to answer the guestions you must
check up this Booklet and ensure that it contains all
the pages (1 -24) and see that no page is missing or
repeated, If you find any  defect In this Booklet, youi
must get it replaced immediately.
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Part & General Intalligence and Reasoning (&0 Cueations)
Part B :General Awaraness (80 Questions)
Part G :Quantitalive Aptitude (50 Questiang)
Parl Ir :Englsh Comprahansion (50 Cluestions)

INSTRUCTIONS TO CANDIDATES
This Bocklet containg 200 guestions in afl comprising the
following four parts |

In guestions sel bilingually in English and Hindi, In cass of
discrepancy, the English version will prevail

All questions are compulsory and carry agqual marks.

The paper cames pegative marking, 0.25 marks wil e deduchan
for gach Wiy answar

You Wil be suppied the Answer-Sheet separately by the
Invigilator. You must complete and code Ine detais of Name,
Rall Number, Ticket Number and Test Form Number in Ine
Answer-Sheet carsfully. You must also pul your signature and
Left-Hand thumb Impression on the Answer-Shest at the
prescribed place before you aclually stanm answenng the
guestions. These instructions must be fully complied with, failing
which, your Answer-Sheet will not be evaluated,

Anewers must be shown by completely blackening the
corresponding circles on Sidedl of the Answer-Shesl agalnst the
relevant guestion number by BlackiBlue Ball-point Pen only
Anawers which are not shown by BlackiBlee Ball-point Pen wil
not be awardsd any Mark,

A machine will read tha coded pfarmation In the OMR Answer-
Sheal |n caze tha mfarmation 18 Incomplete or differant from the
information given in the application form, such candidate will be
awarded 'FERD' mark.

The Answer-Sheet must ba handed over to the Invigllator before]
you leave the Examenation Hall.

Failure to comply with any of the above instructions will
render a candidate llable to such action/penalty as may be
deemed fit.

The marner in which the different questions are to ba answeted
has besn explained at the back of this Booklet (Page Moo 24),
which you should resd carsfully before aciually answering the
questions,

Answer lhe guestions &5 quickly and as carefully as you can.
Some questions may be difficut and others sasy. Do not spend
toe much tme on any quastion.

Mo rough work is to be doné on the Answer-Sheel. Blank
spaces provided at varlous places In the guestion booklet
may be used for rough work.

“Muobile phones and wireless communication devices are
completely banned in the examination halls'rooms.

Candidates are advised nof to keep mobile phones/any othar
wirelass communication devices with them even In switched
off mode, in thelr own inferest. Failing to comply with this
provision will be considered as using unfair means in the
examination and action will be taken against them including
cancellation of their candidature.”
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Part A Ganeral Inlelligance and Reassning / 307 & SRS @77 o shvieT
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Part A: General Intelligence and Reasoni Al Lawyer | FhIel B} Legislator / 9o
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1) Introducing a man, & woman said “His mother is the only
daughter of my father” .How is the man related to the 9)
woman? A)

U TEF F GNET T BT UF AgeT o &ET, Csudr ) o
e A R A gl ot 8 gev AR ¥ fr se il

Acute [ 7 B paraliel / HATGT
D) Obtuse / 31fer

Wt mﬁﬂﬂ' ﬁ"’ iﬂ] -
A) Son/gF B} Father /e A) S0 B) 120
37 D) 145
C) Brother / #H75 D) Uncle / ST " . s
= 11)
Directions / fA&wr In Question nos. / W7 H&AT2to 7, select A) BS B) EV
the related worddetters/number from the given ¢l DX D) 12
alternalives. :
v 70 fawent H & arafre s ki g 12)
- ,' = - A) OKHA B) PERU
2) BLOCKED : YOLXPVW : : 7 : OZFMMXS €) ERKU D) ANDI
A) LABOURS B) LAUNNCH —
C) DEBATES D) RESULTS 13)
T A} 200 B) 191
3) 12:72::8:7 C) 808 D) 1331
A) 36 B) 12 = =
C} 38 D) 4 14} Find out the number of eircles in the figure.
\ : B A H geal fr gEm ww fife)
4) FIG:EGHJFH::BIN: ?
A) ACJHMO B) CAHIMOC
C) CAJHOM By ACHIMO
) g:42;;:7:%
A) 48 :} 40 A) 18 B) 20
& 56 ) 52 c) 16 D} 19
6] Garbage : House : : Gangue : 7
T T AT 9 Directions / fRdfw: In Question nos. / Yo H&AT15 to 17, which
oite set of leffers/numbers when sequentially placed at the
A) Factory | FRETT B) Drugs / 3ttt gaps in the given lefter series shall complete it?
C) office / FrRIm D) ore s 3re RN TEATH] F7 Flor-H7 T WA T, T FHIT 5071 4
&t ar3lt smTe @ F QT FAR

7) DBU:EEZ: CJH:?

A) DMN By DNM
C) DNN Dy DMM A) HHSS B) EEHS
C) ELHA Dy EHSL

Directions / fdfer: in Question nos. / Y97 &&4TE to 13, find the 16) 1241 _ 4123 234
dd wordletters/inumber from the givan alternatives.
[¥] TS & g 1Vas. ﬁ.} 32”. E:l 2134

fav oo Reweat # w e sreap s aaar gia c) 3241 D) 1432

15) SH_ELAS _EELA_HEELASHEE A

GRZ015 | 51d0370 : ] BY D



Part A Genatal Wlatigance and Reasoning / ST & ST FRETT oS iR

17) __aba__ba_ab

A) abbbb
C) bbaba

B) baabb
D) abbab

18) From the given answer figures, select the one in which the
guestion figure is hidden/embedded.

&y areiy Sea BT & ¥ 5W See i g
e e ST FITe 8

A) D)

19) A word is represented by only one set of numbers as given in
any one of the allematives. The sets of numbers given in the
alternatives are represented by two classes of alphabets as in
two matrices given below. The columns and rows of Matrix |
are numbered from 0 to 4 and that of Matrix 1] are numbered
from S to 9. A letter from thess matrices can be represented
first by its row and next by its column, eg. “A° can be
represented by 01, 14 ete. and *M" can he represented by

20) In a certain code, FRACTION is written as FNATTCOR.
How is QUANTITATIVE written in that code?

fared @2 & FRACTION ®FNAITCOR’ & %9 3 ferar
et & 3 PR A QUANTITATIVE &Y & forar
FLAT?

A) QTNAVIAITETU
C) OQTEATUIAVITN

Bl QIATAETUTHVI
D) QEAITATITNVU

24) If & mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure ?

Tife T EOT SR MN LT 9T T A A Al 3eae
et 3 & wie-dr Al wee e fr wf v

M
T ey 3
l;_-- m"ﬂi :
e .?':I—.l ol W
24
b A ~r1- lI.:"'\r" = _-‘-'- 1-.\_1 41 '."'-'4: : -1-/
(LN By BT g% e ek
: I
A) B) C) D)

22) Find the number that is common for all of the clue’s given

56,68 etc. Similarly, you have to identify the set [or the word below:
‘EAGLE’. . 1=t o o o ST & BT grAT 5T aaEy)
o Tz ST e E- S R SR I §, S o) Virgo /T
w##ﬁ?ﬁrﬁﬁﬁw-mﬁ et # fow e b) Volleyball /el a1
HEAT-HAR Hﬁiﬁ‘ &gyt @mmﬁum ?’ :#HT et ¢) A highest scoring shot of a particular sport / EElLgrmEn
fr AT 2Y HregE 7 B 3eg | & waee iR aiEa S
Wu##ﬁﬁm%&ﬂ?&ﬂmﬁllﬂﬁ#i?&nﬁgﬁﬁ d}Extrasmmwpﬂmcpﬁnnsfmaﬁﬁ
R WETT T TEe 31 AT A g & T e 53 i
T AT S ET ] SEERT & A FGLI4 e ) 2 D) 6
Ty IV ST e & T M T 56,68 3017 BT T
7 T & = e & STuET Wi BT g ‘EAGLE' &
T HEE 1 G g
MATRIX - | MATRIX - I

[ lola2[a]4 56789

[efpiAlclalz| |S|E[M[L/N O

1GRZPA 6LEOMN

2(ZP AGR |TONELM

1 AGRZP |8NOMEL

4 RZPAG |9 MLNOE

A) R 22,31,89,76 B) 66,43 44,79, 88
C) 99,01,44,96,77 D) 55, 14,11,78,66

— EK2015/ 3149320 3 RTO



Part A Ganeral intelgence and Reasoning ! 3037 F TS Glamo re SRRy

23) Diractions: Siudy the diagram given below and answer  28)
question.

I__..-r'—"_‘_‘-..
Ber sy #v FreaeT FHara v e 7 Ieew ditad al7
The Qualified and expeérienced doctors working in villages s LL
are represented by:- al 64
arrat # e 1S ve Hawd gt o
e &7 A) 1332 B) 1321
\ s e c) 1231 Pf 1331
L= | QUALIFIED BOCTORS
5—5-’- , | ] et e 28)
B ;—‘ | EXPERIENCE DOCTORS N i T —
B : # : 6
s () Boions womee vilegd a4 aT s a0 u
Tors R RO
A-] 4 H] 5 r}‘_' b, 4 -}"l". S )\TJ" !
e) 2 D) 6 FiP 8g e £49
24) In a certain coding system APPLE stands for ETTPL Whatis ~ A) 535 B) 451
the code for ‘DELHI"? c) 702 D) 154
rdr s cgaer & EFRHEE ‘DELHI" &1
5L AL ETTPLE ‘DELH 30) Mame a single letter, which can be deleted from the body of
I 4T g the following words to form entirely new words?
A) COMND B) ZAHDE ofl T9E /AT g a9 F v Beeeiaa =i A o
Gy HIFLM D) CQPLM FIF T U FER FErAT AT TFA 67
HOST POST COST LOST STOP
Directions / fdwr: In Question nos, / 377 W& 2510 29, select| |~ A) 7 B) P
the missing number from the given respanses. c} S Dy O
mwm##wﬁﬁ?ﬁrﬁﬁm gl = T “B
Directions / R&wr: In Question nos. / ¥77 FEATI1 o 32, one or
two  statements  Js  given  followed by  fwo
dh conclusions/assumphions, [ and . You have lo consider
T ] the statement fo be true, even if it seems to be at vanance
p W k_[__,- I\E_I_:l/ from commonly known facts. You are to decide which of
the given conclusions/assumptions can definitely be
A} 12 B) 7 drawn from the givan sfatement,
¢ -12 D} 9 UF 7 &F gFaey foar azr g fwds wmat gt
26) | 40 32 72 12 Fesdamegard | #iil. Rt oo @t Baw e
”| gE E;‘E i # 1 ey 7oy i wp aF weead T S E
A) 49 B) 16 iy g giar g sirawt Bvir sy & # Be o
C) 46 D) 48 FFAey H @ Flar Bffaa #7 & @ Eernsnaaar
27) bl il
B - "
2
7 s '
A) 16 B) 12 ’
C) 90 D) 48

SK201E / 3145329 FT.0



Pavt A. Genaral inlefigerice’ and Reasoming / 37 & FAtesy Siasmy o5 qdalRiy

1) Statement’ No'rod is pod. Wo pud is Mexible. 35) Two position of dice are shown below. When three is at the
Eﬂﬁﬁéﬁmﬂﬁh #mmaﬁ% top what number will be at the bottom .
M’ v o i Y 2 TPufaar g ey fiafE oy dera ot
[ - No rod is flexible. / #1& o2 Fel A6 & ey siter- e g
[1- Some pods are flexible / F& HiEET 7= § & '

[
A) Bothof them follows.  BJ Only inference I follows. HIE HIRE |
et weaar Pewd | Faw A | B S || LT
&l S | T
C) Only inference Il follows. D) MNeither of them follows. A) 5 B) 1
Fae A= 2t # & #F A €) 4 D) 2
Fereit Bl T T 8 36) If‘air* is called “green’, green is called *blue’, *blue’ is called
T = gy, ‘eky! s called ‘wvellow” | “yellow® iz called “water” and
32) statement / TFTET: water is called “Pink” then what is the color of clear sky?
A good book even if costly is sold out in no time. g G F7 BT FHE I, T H Ao FeT A, e
ﬁmwmﬁ#ﬂﬂm ﬁﬂimﬁl ﬁtmﬂrm1imf1ﬁum'w3ﬂw‘-ﬁrﬁ
Assumptions / #FIAT: "OTAT ShET ST 3T I T FET ST A 9
1: Some books are berter than others / T Teoa Heal ¥ TeRTRT T T & B
AFeR B & :
A) Nellow / dreT B) water / arelr
1. All good books are costly / T35y Ir=0T g gl ghelt D
¥ O gky / 3R ) Blue / #re
|'
A) Only | follows. B) Both land 11 follows. 37) A piece of paper is folded and cut as shown below m the

question figures. From the given answer figures, indicate how
it will appear when opened.

Faw AT | Feeedr Agar | 3T Est

# fereretr B A1 e Tt A Rrwnv 3w R FTS Y HE
) Weither [ nor Il follows, D) Oniy I follows. ; )

& " | v 7 8 Fad AT 11 WW P A PRSI IR o sy

e g Fraedr 8 '

[
33) 1fCUSTOM is written as UCTSMO then how PARENT will t
be written in the same code?

T CUSTOM & UCTSMO T Siam & o PARENT &r P

3 Ty o
A) TNERAP B) RAPTNE T = % I
C) ERAPTN P} APERTN = Y‘? R ¥ <>°

= o i o oY o o ¥ia Cy \}r
34) In the question one part of the problem figure is sublracted. o in g J| L% l
Select the option that shows the correct shape by the o ' B) Q) D)
sibtraction.

TE W A W Hpi W U FTTT 35T Tk vy ] O T 38) If the words are organised in reverse order of what they
appear in dictionary, which werd will come in the third place.

L ikl Sk ey srset i & Frer vt & Sre 2 3 ¥ 3 3
M - [ = "}‘ H smaf T ST & T ST 9T i 8 i
¢ q s
= = ' A) ‘Beculist B) Odium
E \ | ‘ A i % Gy Odious D) Ordeum
A B ] o

SR2016 £ 3145328 & o o]



Part A Genoral inteligenes and Asasaning ! BEF & ST §ilwew oo aeeniae

Directions / F3der: In Question nos. / ¥ WET39 to 40, which
answer figure will complete the patterm in the guestion
figure?

FeT T Ieav HTEIT T ITEA F e F G FAN?
39)

/

.Q__n

Al - B) ¢ D

20
' T _
D204 Pak

40)

D)

Directions / fAdw: In Quostion nos. / ¥¥7 HGAT 41to 42,
identify the diagram that best represents the relationship
among classes given below.

05T HRE 71T FNE F AFEET $0ar & dte gaiftes

Hatr & auiar g

41) Vegetables, Polatoes, Eatables
wiearar , 31e, ey T

43) Veena and Veeru both start from a point towards North.
Veena turns to left after walking 10 Km_ Veern turns to right
after walking the same distance. Yeena waits for some time
and then walks another 5 Km. Whereas Veeru walks only 3
Km. They both then return towards south and walk 15 Km. |
forward. How far is Vecna from Veeru?,

aftetr 3iie e St v T & Foae TR A 9w 4F e
& e 10 R, Tere & O a0 52 sl B e st e
ToTe & 4TS ard HE FET E 99 S 5 F T wear g
3T iR s Tt afte woreh ) s diw o 3 el
e B e & 2T gEvor e 7 wted § 3 15 e

Taa g dwrdE A o ar ey
A} \okm, / fal, B) 10Km./ FE
€) §xm. ! e D) 15km. /Rt
44} find the missing number?
T HEIT A HAY]
2.5.10,17,26, 2
A) 36 B) 49
c) 37 D) 47

45] To identify the comrect response from the given premises
stated aceording te following symbols .

el weiret & s e v Feet F adr
Ieal T RS

‘A" stands for not less than {{ 1
A W Y FH A E (D)
‘B’ stands for not equal to ()

‘B @ Y e g ¥ (=)
" stands for noi greater than {}}
‘w3 F @ A § ()
‘D" stands for greater than(=)
‘DF AT F e R ()
*E"stands for less than (<)

Ew I E A EE R (9

F* stands for equal to (=)

| = f\"' W ‘
| kxh_,l’i__#lif)l (I) ‘I'"‘EFT Hﬁ g- l# W %‘ {'J
| | Premises / FUT: 4YFIxand / T IxF6Z
c D
) ) K 2¥YF3Z B 4YB3Z
42) Christians , Catholics, Pope C) 2YD3Z D) 2YE3Z
&S, Hufae, O
SOy
o . i Maj ‘
A) B) C) D)
SH2015 7 3149335 ) P.TO



Part A: Cianeral inteligunce and Reazoning / 3077 & A gl o8 sy

46) Ravi is walking in the East direction, Afler covering a
distance of one kilometer, he turns 45° left and then 50
right. In which direction is he now?

@ A g wd) vw . frslior s &g
g 45° AT A & T R 00° o AT ) oW wAY
Fofonag

A) Norit/ 3EAT B} west/ ofem
C) North West / Feava@am D) North East/ o0 9

47) Which of the following jumbled words is not an animal?
| EeeiEe scafiue vl § 4 FiF ar e Fea At

.
A) LATHPEEN B) TICRECK
¢ FEFEOC D) TAR

48) Arrange the following words as per order in the dictionary .
A Tata st &1 91eg wiyr & U 10 &H & Hgaw

Gec

(1)Hale (2}Hake (3)Halt ($)Hamlgt (5)Ham
A) 1,3,52,4 B) 2.1.3,54
C} 2.1.43.5 D) 2,3,5.4,1

49) II".!: rﬁ_e.an;‘x:'—-’. m;aﬂs; 0 fx' means f="and '+ means
“+*, then what will be the value of 16+64-Exd+2 7
AR T AW x0E, WA T WO H AR
HR ‘o BT R O 16+-64-8x442 N T 4T

g
A) 12 B) 24
C} 1o D) 18

50) From the given alternative words, select the word which
cannot be formed using the letters of the given word.

fFTaTas fawedl # & 97 e gfav A er v oee &

&I T FAT HL TATAT gl ol Heredl ]
'BOOKBINDING'
A) DONDING B} DOING
C) DIGGING D) DINING

BK2015 /3149329
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Eavt- 8, Ganerad Awaranass S 3 0 FTT FrerE

wREEERER AR R EN

B: eral Aw 5
HET @ WA SEER
51) A Computer executes Programs in the sequence of :

FoET TH FA F SR & Fefa s E

A) Decode, Fetch, Execute  B) Execute, Fetch, Decode

c) Feich, Decade, Execute D) Store, Fewh, Execute

the, Bers. toelerge

52) What is ‘Reformation’?
‘gYUHEa 47 & 7
A) Revival of classical B) The revolt against
learning / RTTATEHR authority of pope / 99 &
e &0 g E TiFE ¥ Bew RBEw
C) Rise of absolute menarchy D) Change in attitude of mian
(g T 1 32y | AT W =HEp

F ofitaae

53} Which of the fallowing particles has the dual nature of 58)

particte- wave 7

FrAtaEa e soi # oot & vt o8
e §7

B) Eicctron rﬁ?’fﬁ‘ﬁ-‘r
D) proton / svefe

Al Neutron | FgIA
C) Meson / FSA

54) SIDBI Stands for :

ow Wi d d WS s@e udw 6

A) Small Industries B) Small Indusirial Designed

56) Swaraj is my Birth Right and | shall have it, This was
advocated by .

EUH B eH e et it A o R e
mTE TREeE AR g

A) Mahatma Gandhi B) Lal Lajpat Rai

FETeHT T el Jerad T
C) Sardar Patel D) Lekmanya Tilak
HER 9o

ArFaEy s

57) Which of the following is called the Light house of the
Mediterrancan?

SraTatEa # § R ey 8N w1 9T §Ed
Fed £ |

A Stromboli of sicily

THEST T FgREr

B) Mount pelee of Wesl
Indies

offadt gdI9 wEp &
C) Paracutin of Mexico D} Vesuvius of ltaly

AfFmst s gy SEAT F aEaay

Who of the following has given the term rhizosphere:

TSR W Feteia # & feEe ae an

A) Alexopolus / YolFaaTaE B) Garrer/ M
C) None of the givenoptions D)y ) freeere
| EE B & FE Al

59) Which one among the following industries is the maximum
consumer of water in India ?

wReEay A feetara B g A7 o & '@
e wew @

Developmental Banker Bank of India / SIS A) Textile B) Enginr.:-:riug
Institute / TATH sefepa Boes 4% ST AN BN E e e
: i - C) Paper and Fulp D) Thermal Power
s.aai FEAATHE 3T o= FETS T T UH ufET
gTecTae :
C) Small Innovations D) Small Industries
Development Banker' s Development Bank of
Institute ! TATH India | T SSEEIST
T SaEUHE dgeude dh HE
{4 sfeeee gfogar
55} The metal ion present i vitamin B12is:
FreTia 812 # #it ar ure s 39T e e
A) nickel | Terdber B) cobatt | Fraree
C) iron / 3 D) ine / faier
BKZ016 [ 3140320 8 F1.0




Part B Goaral Awaveness £ 77 & SHRT FAAHT

69} Microbial degradation of nitrates into atmospheric nittogen is 75} Pulses are obtained from the family: -

knma._'nas: g g WigEt & 5§ e & wred g i
TGAETATT AZerAA & Haw A F gEAeary
A) Liliaceas B) Fungi
A)  Ammonification B) Denitrification C) Cycadaceae D) Leguminosae
HA T GEiETaE i) AEREEY oagEAEr
C) Putrefacation D) Nitrification : . :
s 76) Who was the Indian women president of the United Nations
e of Eﬁlﬂ"ri o
(General Assembly 7
70) Which of the following is in the ascending order of Data HUFT Tve el B FY qeel Afger sl atmay
hierarchy ? =t o2
Fr=aiga 7 S a1 e e F1 9T F7H
Aj Margret Thaicher B} Golda Mayer
¥ AT e Tt AUT
A} Bit - Byte - Record - Field B} Byle - Bil -File - Record - C) Sarojini Naidu D} Vijava Lakshmi Pandit
- Database - Fih:u [Dratabaze - Field I wEEY AT FEsraT WeET utvEe
oz - w1 - RFTe - e arze - fae - wiee - e =
- BETE - T - geRy - fieg 77) The one rupee note bears the signature of ;
C) Bit - Byte - Field- Record D) Field - Byte - Bit - Record T T8 & AT W RS FEAEN 8 67
- File - Database 5 - File - Databasze Y A) Govemor, Reserve Bank  B) None of these
e - arse - Pres - s Hres - a5 - fae - s of India ot = il
L2 Tthc e ey o s (7 €] Finance Minister D) Secretary, Ministry of
FH it HE o d GIoaT 7Ed ¢ S Finance
A) Deoni B) Holstein - Friesian e A & A
E£1 10 grardte mafera ¥
C} Sindhi. D) Chittagong = — — — — -
el fRreaifar 78) What is the currency of Saudi Arabia?
wxar tfaar A1 gg1 ¥ 87
72) In which year was the Indian Mational Congress formed: .
. ' A} g B)
SR ToET IR T oA =6 T 53T AT Riyal / Rame Pound / 38
£ 1901 Hp s ©) Lira/#rw D} Dinar | FFW
&) 1875 D). fegé 79) Reserve Bank of India was nationalised in:
73) Bangladesh was created in- Frordr & &7 Tegraetor 53 a9 -
AT E8T T TUTTAT SH a9 §S- A) 1951 B) 1947
A) 1973 B) 1970 ) 19 0y 148
] e B} 398 80) Which among the following is a folk dance of India.
74) Raja Ram Mohan Roy was the founder of: TR & Si7 7 Ay e 17
FHH FEYTTE WA T gt 70 A) Kathakali B) Mohiniattam
A) Brahmo Samaj B) Prathna Samaj FUF HifeEarsA
C) Ram Krishna Mission D) Arya Samaj W TRl
THESOT BT 3wt
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Part B: Ganoral Awsreness ¢ ST & FTHT SR

81) NABARD stands for : « ~-B6) Day and Night are equal at the :
U T AT I A (TS SuE ATaE B el o e awr o9 v " A
A) National husiness for B) National Bank for : A} Prime Meridian B) Poles
accounting and ﬂuvil:wing agricultare and rural YHE AT uF
(AT AT I development | AU €% ©) Equator D) Antarctic
. . : 87) Economic profit or normal profit is the same as :
C} Mational Bank for D} Mational bureau for air
aéronautics and radar and road transport / ¥ @3 HuET FART A 56 F9 H ST 0w
development | SRS d& TR SHI BIT U &l
it WRaETeRy vo woE {15 gEEle A) accounting profit/&rar  B) optimum profit/
BR 3aa9#T ST A HARATH FIH
- C) - D) maximum profit /
82) Surplus budget is recommended during et profit/ e e e
% g ST ooe i gegi oS B :
A . B ) 88) Evergreen type Forests are found in:
) Depression / 7T & ) Boom / &5 ¥ gloe TR TR & A Wt o o i
” gty . A) Mediterranean région B) Monsoon climatic area
War / Z& & F g Famines | 37T & ZR&T s ETT B S SEaEda 89
e =y 1= i D) Egustorial regi
83) Who was the first Speaker of the Lok - Sabha; & z:“;;“”“ B “"g&:
lia T o T¥H HoaeT & i
A) BR. Ambedkar B) G.V. Mavalankar 89) The gene which exhibits multiple effects is known as:
Y. HIT. 3T S 4. A ey S ag yaEt @ wwRia s § oy FEeh &
C} N 'c'-a!u'cev Reddy D} Dr. 5P Mukerjes A) Pleiotropic B) Pscudogene
T, Hotrar 18T =1, T, A SR FatEa
e = C L
84) What is the plural voting system ? ¢ PEI}"genE o Smpi;nﬁle“fary
I Ao &9 41 & | T
A) All the citizens caste three  B) Eligible voter exercises 90) The ash-grey soils of high-latitude coniferous forests are
votes each. one vote and some volers knowr as:
sy AT FET with specific qualifications T St e HET ¥ Ied WeTE & S F oA gE A A
cast more than one vote. T E
ST Al At & B o dex U AT & |
¥ mur 5o 9w A) Grev-Brown soils B) Red and Yellow soils
) ST Sl A e 9T O HA
ol C) Tundra soils D) Podsols
o e & 8 LGy ytgaten
C)} Omly the higher officials D) Candidates themselves
caste more than one votes. caste more than one vole, 91] Radin actiﬁti,' was discovered by:
Faw I=T A & gl A9 U H YfparerfiaT B aier s AT B
U= & 39w i 23§ yhF ST ey § |
A Curie gl B} Becqueral / fagie
85) Which of the following plant shows chloroplast dimorphism? €} Soddy [ R D) rutherford / TETRE
frrafaf@a & si7 @ ggy Fetarse gEATiEsA
e FLar 7
A) Sugarcance [ 3T 8) Sugar bect / TG
C) Rice/ D) Wheat /3%

SKI0T5 /3740320 T PT.O



Pan B Gaspral AWbreness / AT & Fem el

92) Muddy water is treated with alum in purification process, itis  97) Best way to conserve our waler resources:

termed as: Fe wEuAl F SO & gEE 3w atwr b
dTeRoT T wiEhgT & g 9= F 3Ew few §

_ A) Al of the options B) Encouragement of natural
Ao ¢ T WhHEAT ST FEand o7 mentioned here. regeneratien of vegetation
A) absorption B) adsorption AN A TrEfaE aaeata &
Farivor JrfEreior AT & SR
C) coagulation D) ecmulsification FTT
TR ELiiE C) Sustainable water D) Rain water harvesting
= utilization E‘q‘r#’mﬂm
83) An enzyme produced by HIV that allows the integration of Tad =et STAIEr

HIV DA into the host cell™s DNA is L -
T 3% @ SANT Icdee UoligH B S St i 98) Constitutional Monarchy means :
& AT F iow wmaEd § e #t Eufts | ofauiEs ood # o

LAl ‘@f| A) The King is elected by the B) The King interprets the
;) people constitution
A) DNA gyrase B) Ligase i
EIRC A e e RLETY i Yl el Nl el il
C) Integrase D) Helicase AT ST ST e
; ieCo €} The King writes the D) The King exercises power
T constitution as granted by constitution
94) Voting is : AT E@RT HRAUE wiaue g ure
AATOFR U G W TTT FHEAAT ofEFe & HTHE T F
A) The unit of area who B) The pracess by which ZIRT AFGAT H T
constitute & unit for volers exercise their right
electing representative. toy vote, 99} What is popular sovereignty?
g & g gl & 77 vw fafer  SEd AENT T FATE ?
fv 817 & =5 & gleT HUAT A 3 & A) Sovercignty of the legal B} Sovereignty of the head of
FEAT AT ) HTOHIT F g HTE head / T g &1 state / 1= & ofrd a1
El T W
C) The process of selecting D) Universal adult franchise. C) Sovereignty of the people/ D) Sovereignty of peoples
representatives adeaTE dig, Selell & WHed representative | ST &
WO WA e SR @ s
UF whedr £ |

100) Granite, quartzite areas have upstanding look because

95} Thetwo specific heats of gases are related by @ m m P EECEE ] welftha g- FaitE
ot % o Rffee @ sud qory s &

A) not easily wom down B) these rocks are resistant Lo
A) Cp/Cv=R B) Cp-Cv=RI s B e A A all kinds of erosion
C) Cp-Cv=R/J D) Cp+Cv=RI] TAT T 7T TEH F
86) Who initiated the movement to form the Indian National HORE W Wi qieRrEr
Congress: 31
AT LT SR & 76T Tatll HTea ol &l e €) these rocks are not easily D) mechanically weathered
ded faster
AT T ere -
2 siiarn Ko 27 Tt w5 e TEH w0 S w
nne Besan LY hame
iy ke s rEE § FE Fa| Fqwfor g #
C) W.C. Banerjee D) Gandhi ji
g, . FST aiedt =
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Part C: Quantitative Aptitude

101) Let C1 and C2 be the inscribed dnd circumseribed circles of

a triangle with sides 3em, 4em and Sem then

areg af C1 18
area nf C2

A & B C13ER 2 v BEa F dEga Ak oflgs

£ To=hr aand 3aa, 4390 sl sl § o

Cl % 4ESH 7
C2 o7 £rahd
A} 2 B) 2
i 25
C) 4 D) i6
24 25
102) j/afgx = |
2+
then (x + | Jequals to /@Y (x + | ) rE® goT -
A) 2 B) 2 -1
C) 2 +1 D) 7

104) I the expenditure on cducation is 21600 mere than that of

housing then the expenditure on foed is:
afy e o7 &9 5% @9 F T1600 ¥0w & & sie

@ &

A) T6O00
C} T7000

B) 212000
D} 23333

105) The ratio of expenditure on food to savings is:
#Hrder wd AT =9 w3 B

B) 3:1
o) 10:9

A} 211
G} 3:2
'HJE] The average marks obtained by a student in 6 subjects is 88.

On subsequent verification it was found that the marks
obtained by him in a subject was wrongly copied as 86
instead of 68. The correct average of the marks obtained by
hirm is-
faredr Fagamelt #r 6wt & v o Atwe 3 88
¥ &g F Feuge WA ¥ 9% 997 97 6w Eww
# 3u% e & e § 68 & ¥ oY 86
e | 3W 9Ied HET F g e B

A) 85 B) &7
c) &4 D) 86

Directions | A2 In Question nos. 7 Y57 F&IT103to 105, The

pie-chart given here shows expenditure incured by a
family on varfous ftems and (heir savings. Sludy the char
and answer the questions based on the pie-chart

&7 9iE- ¢ # v gRian ganT [3ife7 gal v g iy @
FT FTFT T S AT TAT §] WE FTHEGGH B I
qré-ené gv HrEnRA s BT 3ea

EDUCATION

.
LOTHS HOUSHG
e WERT

103) If the monthly income is TI6000 then the yearly savings is:
afy @fdw 3 736000 & of anféss aa9q §-

Diractions / /@& In Question nos. / Y77 &&4T 107 to 110,

Glven here a multiple bar diagram of the scores of four
\olayers in two innings. Study the diagram and answaer the
guestions.

ZET vy (Bl & &t oAl & LI F ag I REr
T B HRE 7 HETTA FHVIE FT I &)

0 1st Innings

ugmnmngs S

B esiaion] | EEEHT |ousiilliis
i A, e B = R LU —
% o T e I
's) EU T
= 40 4
g 30 ¢
20 +
0+
Flobendra Wik Kohli Cheteshwsr Shikbas
Fingh Dboni - BT mpeh Pujars Mibwas

Wi Py bt afrm g Tt s

107) The average run of two innings of the player who scored
lighest in average is;

=t ofrat & Iooas tOe T W R anel TEeEr &

A) 772000 B) T60000 reen S
C) T74000 D) FTT0000 Lok
A) 75 B) BS
C) %0 D) 70
SK2015 /3149329 13 PTO




Baer € Quarititadive Aphitde # ST @ ofmoTe SRwr

108) The average run in two innings of the player who has scored  115) If the three angles of a triangle are;

minimum at the second innings is: I vF e & A wr
Al ol # mEl 7 R W & ae [BeE & e (x+ 15, (6x + 67) and (2% + 307
aftat & sl < B 2 :
A) 50 B) 60 then the triangle is: / & T &
c) 40 D) 30 vl A) scalene / faer g B) isocsceles / HAGAAE
109) The average score in second innings contributed by the four C) right angled / wamim ) equilateral / FvaTg
players is; S e e ; T
o ot & I THwieat w st wm i 116) If the number of vertices, edges and faces of a rectangular
parallclopiped are denoted by v, ¢ and f respectively, the
A) 30 B) 60 value of (v - ¢ + ) is
C) 40 D) s0 TfE el EEETE wHiaT 9T W & o], @Rt 3

110) The total scores in ihe first innings contributed by the four | VA 41 FEA F FA v, e M {zm Fide

playets is: , e B Al (v-e+ f) & AN 8-
gEer grT & gt AR gae Beer T T e A) 4 B) 2
= & c) | D) 0
220 B) 200 - =
A) ) 117) 5 persons will live in a tent. [f each person requires 16m? of

c) 210 D) 199 :
) ) floor area and 100m* space for air then the height of the cone

_ ; ; < f smallest size to accomodate these persons would be?
111) If the volume of a sphere is numerically equal to its surface 3 :
SsefEa UF tee & 9 % viw e & 16m? ol

area then 'its diameter is;

ufE U e & AT FEAHS &9 F I6E e &7 3T g & BT 100m? & Feava 7 Evusar § ar
&are & ey & oar aer e g 3 afFaat wr 3EH o & & B aueE e § o
A} 4cm B) 2om & Farg e geft?
C) 3em D) 6em A) 1875 m B) 16m
' : C} 1025m D) 20m

112) A train runs at an average speed of 75 km/he, If the distance =
W bocoveced 15 1030 ks, How lomg il e rai ke 04985 1e s sieie o7 i Eouliaieral Fianale - 1243 &, o 16

cover it?
\ area would be:
ey 7 AL FrEd el -
i A, SRUn AR #l oy vF FHEE NS 0 dEsE 1243 A 2 A awE
IfE 3 1050 Fra f gy oo =l & ot o 59 g = : . -
a9 # Fu &6
1 ‘ A) 12 em? B} 72cm?
A) 13 hes /B B) 12hms /8 C) %643 cm? D) 14443 e
C) : D) ; _ —-
4 hrs / BE 150t 10E 119) The difference  between suecessive discounts of 40%
: ; . = followed by 30% and 45% followed by 20% on the marked
113}';_5 is the centroid of AABC, The medians AD and BE price of an article is ¥12. The marked price of the article is:
intersect at right angles. If the lengths of AD and BE are 9 TS & e
em and 12 em respectively; then the length of AB (in cm) is? IR & AT Hpd 9 40% i’lE 30% N
G AABC &7 ¥e% ¥ amtars AD ¥R BE S &7 45%, FEF aE 20% HT Il G A e 112 }) I
wiaed war §] 9% AD st BE #1 meard wmw @l TG T AT HeT b
T 12 A A AB FY wrEad (R #) e &7 A) T400 B) 2200
A) 10 B) 105 C) fann. ! D) 600
C) 95 D) 11

114) The minimum value of 25020 + 3Cos20 is
285m0 + 3C0s20 F FYATH 71 §-

A) 1 B) 3
c) 2 D) 4
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Part G Quantitave Apthude / 2797 T TREm slwfr

120)
equations x =0, 2x + 3y = Gand x wy =3 15

x=0,2x + 3y = 6 3T x + y=3 FHERLOT TR HF &
3 F7 815 -

A) 3 sq. unit / 97 e B) 1.1 sq. unit / Z gfAT

[ %]

C) 1 sq. onit/ 7= 3foe D) 41 sq unit/a 9o
z
121) Among the equminns': | T
X4 2y +0=0;5x-4=0; 2y - 13=0; 2x -3y=10,
the equation of the straight line passing through origin is-
# & 5y g A qare ol == Tmr o wee B

B) 5x-4=0
D) 2y-13=0

A) 23y 3y=10
c) x+2y +9=0

122) The HCF of x® - | and x* + 2x* - 2x - 1 is:
KB | 3T K+ 2%2 2% - | T AEeaW TETEAS -

A) x2+1 B} x+1
C) x2-1 D) x-1

123) The least number which when divided by 6, 9, 12, 15, 18
leaves the same remainder 2 in cach case is:

aE WEAH HEar e 6,9, 12, 15, 18 9 famfea & €«
el HIAe A T 2 IET R

A) 178 B) 182
c) 176 D) 180

RO = 96 then the value of ZRPQ is:
APORF ~£Q 3 <R & 3afw gawems 0 W
ufgees (g # 3 LROQ= 96° § & £RPO

i -
A) 120 B) &°
C) 34" D) 24°

125) A certain sum will amount to 12,100 in 2 years at 10% per
annum of compound interest, interest being compounded
annually. The sum is-

oF U e sme afts w9 & Sier @ § 10% 9
a9 wEEdl =T ug 2 A9t # T12,100 7 Sweh| gg o

The area of the triangle formed by the graphs of the 126) A's 2 days work is equal to B's 3 days work, 11" A can

complete the work in 8 days then to complete the work B will
take:

A Fr 2 Bt wr wd B ¥ 3 Rat & 1 F a0 g
afr AT FE a7 8 foet & Far WA AT B

3 w1 Y Brae foa & o F8Em ?
A) 14 days/ & B) |5 days/ feat
C) 16 days/Res D) 12 days/ fe=

127) If the measure of three angles of a triangle are in
the ratio 2 : 3 : 5, then the triangle is:

oy fRfer s & e whol & 2y 2:3:5 39T # 8
o @ fase &

A) equilateral / TS B) isucpceles/ wHgRAE
C) Obtusc angled / ¥fowofm D) right angled / wRemiT

128) What must be added to cach term of the ratio 2 : 5 so that it
may equal to 5 : 67
7 5 e & wedw g7 A @ Sy S aifge et aw
5: 6% =0Et £ S 7

A) 12
C) 65

B) 78

D) 13

129) If the sum and difference of two anglas_an:_ﬂfg radizn and
367 respectively, then the value of smaller angle in degree
taking the value of ITas 22/ is:

o & it wr A dT s @A 22/ R it 360
% sty oty 1 &0 7 227 & & e WY e
feafy & #re -

A) 607
e} 2°

B) 48
D) s56°

130) 4 men and 6 women complete 2 work in 8 days, 2 men and 9
wometi also complete in 8 days. The number of days 18
women complete the work is:

Iy 4 gew iy 6 FogT e w9 & 8 B A 90 A
¥, 2 g ¥ o el o 3% 6 Rl A o ww ) A 18
Tl 78 & & foe Bat & gu F9?

A) 4 2 days B) 52 days
3 3 3
A) TI2000 B) 6000 C) 4 1 days D) 51 days
C} 28000 D) 210000 3 3
SRz015 7 3148020 15 BFT 0




PartC: Quentitalive Aplilude / 3097 7 SRETSE WA

13) (frafex - x4 1=7

X
then the value of ( TF ST ad &1 FI?-[E',
b i ol
30
A) 432 B) 433
C) 343 D) 322

132} 15/ afy $x + 9y = 5 and 125x + 729y = 120
then the value of the product of x and y is /7 x W v &
AT A B )

A) 135 B) _1_
135
c) 1 D) 45
g

1&3] If 4 men or 8 women can do-a piece of work in 15 days, in
how many days can & men and 12 women do the same piece
of work?

ofE 4 oo T & Tl e s o= 15 AT F =

FeRdT £ AT 6 999 A 12 ot = v w Bew T A

FL TS £
A 45 daye i
C) 15 daysfem

B) 29 days/TEa
D) 30 daysfEm

134) The value of Sin®22% + SinZ68° + Cot?307 is
Sin?22% + Sin®68" + Cot*30° & &= %-
A) 3 B) 4
4
C) 5 D) 3
4

135) Find x 51'mp1le discount eguivalent to a discount series of
10%, 20% and 25%

10%. 20% HIT 25% WE W & T WURYT [ 719

FI
A) 45% B) 55%
C) 52% D) 46%

136) If © be acute angle and tan{ 48 - 509 = cot(50°% @), then
the value of @ in degrees iy ;
e oA FoTE 3T tan( 40 - 509 = cot(50%- @), Ear
i d o AT

K) 30
C) 20

B) 40
D) 50

137) Cost price of 100 books is equal to the selling price of 60
books. The gain or loss percentage will be:

100 TETHT FT T Hpd 60 TEa & &@%a #5g §
AT &) W vyar g Sy wiaeerar feeer e
A) 862 % B]Eﬁ_l_%
3

C) 66% D) 66 3 %
4

Bl i 7 of 5558 = 3 Mie suciedical valne of

WATRTOT T AEIToHF Al -
g = Ta
SecE + Tan®
A) 1 B) |
3 2
¢ A D) 1
4 5
139) If 3f4 of a number is 7 more than'fﬁ of the number, then 51"'3

of the number is:

T e e & Ofs 3w dewr % e w7 3w oA
57 FEar & 3k

A) 15
c) 12

B) 8
Dy 20
140) What is the arithmetic mean of first 20 odd natural numbers?
TUH 20 TauH wEias ST & gAET Avem For &7
A) 17 B) 19
Cc) 22 D) 20
141) A kite is flving at the height of 75m from the ground, The
string makes dn angle & ( where Col® = aﬁs Y with the

level pround, Assuming that there is no slack in the string,
the length of the siring is equal to:

U g HqE ¥ 756, & FO or 33 O §) awd of
HfT & Tt & O ® For @ W fgwd Coo = Y5 B
e o T Sl o 8 fr A oAt I ) et e
&
A) 75m
C) 40m

B) 85m
0) 65m

142) If a person travels from a point L towards east for 12 km and

then travels Skm towards north and reaches a point M, then
shortest distance from L to M is:

oft vF oofdg g L & 9f 1 3 1269 se i
3cay @ 307 5fE A I s § AT Rig M at wgaar §
ar L M &Fr e o g

A) 14 B} 12
c) 17 D) 13

SRA0TS / 31489329
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143) In an examination, a student must gel 36% marks to pass,
student who gets 190 marks failed by 35 marks, The total
marks in that examination is; %

faceir e % Sedh g % U U BT A 36% 3
A9y ure &I afEw] 190 3 UH wHe O U
faeareli 35 3T & @ | 3W when ¥ g §

A) 500 B) 625
c) %10 D) 450

144) A train 180 mts long is running at a speed of 90 km/h, How
long will it take to pass a post?
o 180t s TEImEr 90 Hra. why der & afy § 99

) &) v G F dEa 7 ag R g e

B) 7%secs/®
D) 72 secs/#.

A) 572 secs/ W
C) 8secs/ A,

145) An article which is marked at 2975 is sold for T897. The %
discount is?

£a75 3T HFy AT Us aeg #2897 & d@r I §
T % 17

A) 6%
C) 12%

B) H%
D) &%

146) 1£ 5600 + Tan@® = p, (p # 0) then Secd is equal to
a7 SecO+ Tan®=p, (p 20 ) & FT Sec® RBred IeT B~

A (p+1fp), p20 gy L(p+"p). p=a
2
€ 2(p-"p), p#0 B) (p-1p). p=o
147) 17/ afy p= 99 then the value of / A FremfafEa = 71 §-
p(p+3p+3)
A) 999999
C) 989898

B) 988899
D) 998889

148) 1§/ aF= x = 2 then the value of | @7 F=ITai@a @& 7w ¥-
W 2724+ 243x% + 631

A) 1233
) 1321

B) 1231
D) 1211

149) If D, E and F are the mid points of BC, CA and AB
respectively of the AABC then the ratio of area of the
parallclogram DEFB and area of the trapezium CAFD is:

fr AABC & BC, CA I AB® waw 7tw &g DE
37 F ¥ A BHiAT 9985 DEFB & 819 3 e
CAFD & &/ 9% S Ieuia &4 -

A) 1:3
C) 3:4

A 150) If A and B are in the ratio 42 5 and the difference of their

squares is 81, what is the value of AY

o A 3 B T FAATA 4 - 5 ¥ AT IS AT T AR
21 A & A haare?

A) 36
C) 45

B) 15
D) 12

SK2015 / 3149329 ¥
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FPart [: Enalish Comprahansion/ B & o=@ it

e

Part D: English Comprehension
8T = 3EEh SREme

Directions: In Question nos. 151 to 155, sentences given with
blanks to be filled in with an appropriate word(s). Four
alfematives are suggested for each question. Choose the
correct alternative out of the four and indicate it by
blackening the appropriate circle in the Answer Shestl

151) When the morning the murder was

discoveread,
A) came B} happened
C) arrived D) ocourred

152) The smell of the Sea called ~_ memories of her

childhood.
A) on B) back
C) up D) for
153} He has the full facts but is deliberately
hiding them,
A) under his sleeves B} upon his sleeves,

C) up his sleeve D} in his sleeves

154) The appearance of the city _day by day.
A) could change B) changed
C) had changed D) is changing

155) The police fired on the mob when they

H) tumed violent
D) fizzled cut

A) turned noisy
C) became abusive

Directions: In Question nos. 156to 158, out of the four
alternatives, chooss the one which best expresses the
meaning of the given word and mark it in the Answer
Sheat,

156) BOARD
A) Frame B) Lodging
C) Food D) Furniture

157) PERUSE
A) Hfollow B) Argue
GY Reduce D) Read

158) SFUME
A) foam B) Lava
C) poison D) spit

“|Diractions: In Question nos. 158 to 163, you have a passage

with § questions following. Read the passages carefully
and choose the best answer to each question oul of fhe
four alternatives and mark it by blackening the approprate
circle in the Answer Sheel,

PASSAGE
True, it is the function of the army to mamtain law and order in
labnermal times, But in normal times there is another foree that
compels citizens to gbey lows and to act with due repard to the
rights of others. The force also protects the lives and properties
{of law abiding men. Laws are made to secure the personal safety
of its subjects and to prevent murder and crimes of violence.
They are made 1o secure the property of the citizens against theft
{and damage and to prafect the rights of communities and castes
to carry out their customs and ceremonies, 50 long as fhey do
not conflict with the rights of others. Now the good citizen, of
his own free will obeys these laws and he takes care that
everything he does is done with due regard to the rights and well
being of others.
But the bad citizen is only restrained from breaking these laws
by fear of the consequence of his actions. And the necessary
steps to compel the bad citizen (o ael 45 a good citizen are taken
by this force, The supreme control of law and order in 8 Stale is
in the hands of a Mimster, who is responsible to the State
Assembly and acts through the Inspector General of Police.

159) The expression "customs and ceremonies” means:

A) habits and traditions
C) superstitions and
formalities

B) fairs and festivals
D) usual practices and
religious rites

160) “They are made to secure the property of citizens

against theft and damage” means that the law:

B} Initiates process against
offenders of law,

A) Safeguards people’s
possessions against
being stolen or lost.

C) Helps in recovering the D) Assists the citizens

stolen property of the whaose property has
citizens. been stolen or
destroyed.

161) Which cne of the following statement is implied in the
passage?

A) The police hardly
succeed in converting

B) Criminals, who flout
the law, are seldom

bad citizens into good brought to book.
ones.
C) Peaceful citizens D) The police check the

citizens, whether they
are good or bad, from
violating the law.

seldom violate the law.

SH2010 3145328
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162) Actording ta the writer, which one of the following is not
the responsibility of the polica?-

A) Tocheck violent
activities of citizens.

B To maintain peace
during extraordinary
CIrcUmstances,

&) To protect the

privileges of all
citizens.

citizens by safeguarding
individual rights.
463) Which of the following statements is not implied in the
wassage?
) Law protects those who B) A criminal is deterred
respect it. from committing crimes

only for fear of the law.
C) The forces of law help D) Law ensures people’s

to transform religious and social
irrespensible citizens rights absolutely and
into responsible ones. unconditionally.

Directions. In Question nos. 164 to 173, a sentence / a part of

ihe sentance is underined. Below are given alfematives to
the undedined part which may improve the sentence.
Choose the correct altemative. In case no improvement is
needed choose “No Improvement”. Mark your answer in
the answer shest.

164) He dees not laugh , not he smiles.

A) nor he does smile
C) neither he does smile

B) Mo Improvement
D) nor does he, smile.

165) 1) will gt an opportunity, I shall attend the seminar,

Af get B) No lmprovement
C) shall get D) got
166) The others shook their heads and made vague noises of
appraval,
&) nodded B) Nolmprovement

C) turned around D) bhung

167} The world is being faced with a crisis

B) facing
D) in frontof

A) No Improvemen
C) confronted

168) Shc insisted on she was innocent.

A} Mo Improvement B) insisted on that

G insisted that D) insisted with
169} She could not help but laugh,

A) but laughing By NoImprovement

C) laughter D) laughing

170} 1k my mother some grapes when she was in hospital.
AJ 1took some grapes for my B) Mo lmprovement

maother
C) 1 took for my mother some D) [ brought my mother some
prapes gropes,

D) Toensure peace among -

171)-We met yesterday, haven't we 7

B) NoImprovement
D) hadn't we ?

A) sn'tin?
4 didn't we?
122)Both the teams played the pame faitly.

B) No Improvement
0} played a fair game

- A) played fairly the game.
C) fairly played the game,
173} You must endure what you eannol cure.

A) suffer
C) prevail

B) Mo Improvement
D) accepl

Directions: In Question nos. 174fo 176, choose the word
opposite in meaning to the given word and mark it in tha
Answer Sheet.

174) VACILLATION

A) inoculation B) relief

C) steadfastness D) remorse
175) Placid

A} dull \Bj stormy

C} urgent D) moving
176) Effeminacy

A} manliness B) boorishness

D) attractiveness

C) aggressiveness

Directions- In Question nos. 177 to 181, some parns of the

sentences have errors and some are correct. Find oul
which part of a sentence has an error and blacken the
circle corresponding to the appropriate correct option. ifa
senfence s free from error, blacken the circle
corresponding to "No Error” option in the Answer Sheet.

177) A bird in the tree is worth two in the bush.
B} two in the bush.
D) A bird in the tree

A) No error
C) is worth

178) It is not advisable to take heavy luggages while on a
journey.

B) to take heavy luggages
D) No error

A) while on a journey.
C) It is not advisable

179) Just outside my house are a playground for school boys
and girls.

A) for school boys and B) are a playground
girls:

C) Noerror D) Just outside my house
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180) He can be a basketball player since he is tall like a 190) =

mule.
A} No error ~ B) He can be
C} heistall hke s mule D) a basketball player
since
181) \Wio do you think | met?
A} Whao B) | met?
C) Noerror D) do you think

Direcfions In Question nos. 182to 188, out of the four

alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening

the appropriate circle in the Answer Sheet.

182) Of one’s own free will.

B) mandatory
D) compulsory

A) ohligatory
C) voluntary

183) One who runs away from justice or the law.

& Fugitive B) Thief
C) Criminal D} Smuggier
184) One who is skillful. [
A) disciplined B) different
c) diligent Df dexterous

185) One who is too careless to plap for the future.

B) improvident
D) imprudent

A} impotent
C) impractical

186) A person who deserves all praise.

A) despicahle B} detestable
C} laudable D) lovahle

187) One who has long experience.

A) expert B) mnovice

C) practitioner B) veteran
188) A study of ancient things.

A) Physiology Bl Archacology

C} Ethnology D) Zoology

Directions. In Question nos. 188 to 190, four words are given

in each question, out of which only one word is correctly
spelt. Find the correctly spelt word and mark your answer

in the Answer Shest,

189)

A} DIFFUSSION
C) DIFFUSION

B) DEFFUSION
D) DEFUSION

B} Circumlocution
D) Circumlocutien

A) Circumlocatien
C) Circmlm:utiny

Directions: In Question nos. 191 to 195, four affemalives are

given for the Idiom/Phrase underlined in the sentence.
Choosa the alternative which best expresses the meaning
of the Idiom/Phrase and mark it in the Answer Shest.

181) Unless you make amends for the loss, nobody is prepared to

ENCUSC YOou.
A) improve B) pay debt
C) confess D} compensate

192) Instead of keeping his promise of helping me with office

work, he just left me high and dry.

A) left me feeling like a fool,
C) left me without a drop of

waler,

B) lefi me in a state of anger.
Dy lefi me alone 1o do the
work,

193) Amit said to Rekha, “Don't make a mountain out of a
moiehill,”
A) attemapt an impossible task B) start looking for molehills
11y mouitains,
D} exagserate a minor
problem

C) create problems

194) Before the report reached the authority, the media spilled the

beans.
A) dropped the charges B} hinted at the
CONSEQUENCES.
C) revealed the secret D) spilled the content of the
information package,

185) His friend tumed out to be snake in the grass.

A) cowardiy and brutal
C) ahidden enemy

B) ‘low and mean
D) on unreliable and deceitful

person.
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Directions: In Question nos, 1960 200, you have a passage
with 5 questions following. Read the passages carefully
and choose the best answer fo each guesfion out of the
four alternatives and mark it by blackening the appropriate
circle in the Answer Sheét.
PASSAGE

Journalists argue over functions of a newspaper. | fecl that a
provineial paper’s purpose is not only to present and project the
fiews objectively and imagmatively, but to help its readers to
express themselves more  cffectively, canalizing  their
aspirations, making more articulate their demands. A newspaper
hould reflect the community it serves = warts and all. When the
mirror is held to spcicty it reveals neglect, injustice, ignorance
or complucency. 1t should help to eradicate them. It would be
pretentious to think that a newspaper can change the course of
world affairs- but at the local limit it can exert influence, it can

probe, it can help pet thinge done. The individual's voice must|.

not be stifled. Instead, the readers should be encouraged to

cxpress their opinions , fears, hopes, and or their grievances on
mls_E!_meT_m . I

496) How can the readers air their grievances?

A} By being complacent,  B) By supporting the local

NEWspaper,
C) By writing to B By writing to their local
journalists. newspaper,

197) What is the main purpose of a newspaper?

A) Project news B) To present facts in a
objectively and blunt way.
imaginatively.

C) Exert influence on the B} Encourage the readers
individuals. to be pretentious.

198) The expression "waris and all" in the passage means.

A) hopes and fears B) the reader’s grievances
C) with no attempt to D) the community’s
conceal blemishes and problems
inadequacies

199) How can a newspaper influence local affairs?

A} By probing into the ills  B) By encouraging the

of society and rallying readers to accept their
support for change. grievances.
C) By focusing on world D) By influencing public
affairs: opinion through half
truths.

200) If this passage the writer highlights the fact that:
A) A newspaper should B) A newspaper should

reflect the community it only concentrate on
serves. local affairs,

C) Journalists differ in D) Mewspaper can
their opinion on the eradicate injustice.
function of a
newspaper.
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